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1 100kN/m#%#BZ % -l -~ = —-|3m#EFEZS -~ = —| 100kN/mM%#B 2% = -~ = —-|3mZiBZD =~ - - -
s - = Knd - -| £hist = Had - - - Zh s - = Kot - -| 2hus = ad - - -
9 100kN/m#%#BZ % -l -~ = —-|3m#EBZ5 -~ = = —| 100kN/m%#B 2% = -~ = —-|3mZE#BZ B ol ~ - - -
ZhnLs - = Knd - -| £hist = Had - - - Zh s - = Kot - -| 2hus = ad - - -
3 100kN/m#%#BZ % -l -~ = —-|3m#EBZ 5 -~ = = —| 100kN/m%#B 2% = -~ = —-|3mZE#BZ B ol ~ - - -
s - = Knd - -| £hiist = Had - - - Zh s - = Kot - -| Zhus = ad - - -
4 100kN/m#%#BZ % -l -~ = —-|3m#EBZ5 -~ = = —| 100kN/mM%#B 2% = -~ = —-|3mZEi#BZ B ol ~ - - -
s - = Knd - -| £hist = Had - - - Zh s - = Kot - -| 2hus = ad - - -
5 100kN/m#%#BZ % -l -~ = —-|3m#EBZ5 -~ = = —| 100kN/m%#B 2% = -~ = —-|3mZE#BZ B ol ~ - - -
ZhnLs - = Knd - -| £hist = Had - - - Zh s - = Kot - -| 2hus = ad - - -
6 100kN/m#%#BZ % -l -~ = —-|3m#EBZ5 -~ = = —| 100kN/m%#B 2% = -~ = —-|3mZE#BZB ol ~ - - -
s - = ~ - -| £hiist = ~ - - - zh st - .~ - -| 2hus = - - -
7 100kN/mM#Z#EZ % -l -~ = -|3mZzBRB| - ~ = = -| 100kN/mM%#B 2% = -~ = -|3m%E#BZ5 = ~ - - -
s - = ~ - -| £hiist = ~ - - - zhLst - .~ - -| 2hus = - - -
g 100kN/mM#Z#EZ % -l -~ = -|3mZzBRB| - ~ = = -| 100kN/mM%#B 2% = -~ = -|3m%E#BZ5 = ~ - - -
s - = ~ - -| £hiist = ~ - - - zh st - .~ - -| 2hus = - - -
9 100kN/mM#ZH#BZ % 1.00{ 0.00 ~ 0.83 112.42(3m%#8%%|0.00 ~ 151 4.26 22.79]| 100kN/m#%#8 %% 1.00| 23.18 ~ 32.14 112.42|3m%#8 25| 15.00 ~ 32.14| 4.26 22.79
s 1.00{0.83 ~ 8.62 100.00] #hist | 151 ~ 8.62 3.00 16.05 ZznLst 1.00f 500 ~ 23.18 100.00] #h st | 5.00 ~ 1500 3.00 16.05
10 100kN/m#ZH#BZ % 1.00{ 0.00 ~ 232 136.16(3m%i#8%%|0.00 ~ 1.23] 3.90 20.88| 100kN/m#%#8 %% 1.00| 15.32 ~ 3252 136.16|3m%#8 25| 20.00 ~ 32.52| 3.90 20.88
s 1.00{ 232 ~ 5.00 100.00] #hist [ 1.23 ~ 500 3.00 16.05 ZznLst 1.00f 500 ~ 15.32 100.00| #h a4t | 5.00 ~ 20.00| 3.00 16.05
11 100kN/m#%#BZ % 1.00{ 0.00 ~ 322 151.52(3m%#8%%|0.00 ~ 0.85] 3.53 18.90| 100kN/m%#B 2.5 1.00{ 11.71 ~ 30.65 151.52|3m%#8 25| 20.00 ~ 30.65| 3.53 18.90
Lot 1.00{3.22 ~ 5.00 100.00] =hlst [ 085 ~ 5.00( 3.00 16.05 zh st 1.00f 500 ~ 11.71 100.00] #n it | 5.00 ~ 20.00f 3.00 16.05
19 100kN/m%#E% % 1.00/ 0.00 ~ 3.64 159.01|3m%#8% 5[ 0.00 ~ 0.35| 3.19 17.05| 100kN/m#%E#B 2% 1.00| 10.54 ~ 39.77 159.01|3m%#8% %[ 25.00 ~ 39.77| 3.19 17.05
ZhnLst 1.00] 3.64 ~ 1143 100.00] #hlst [ 035 ~ 1143 3.00 16.05 zh st 1.00f 500 ~ 10.54 100.00] #ni4t | 500 ~ 25.00f 3.00 16.05
13 100kN/mM%Z#E% % 1.00/ 000 ~ 2.16 133.49|3m%#E% 5[ 0.00 ~ 0.99| 3.72 19.93| 100kN/m#%E#B 2% 1.00| 1471 ~ 28.28 133.49|3m%#8% %[ 20.00 ~ 28.28| 3.72 19.93
Lot 1.00]2.16 ~ 994 100.00] =hlst [ 099 ~ 994 3.00 16.05 zh st 1.00] 500 ~ 14.71 100.00] #n it | 5.00 ~ 20.00f 3.00 16.05
100kN/m%Z#E% % ~ ImEHBRD ~ 100kN/m%Z#B% % ~ ImERZS ~
ZHN LS ~ ZThLLSE ~ FHLSE ~ T IO0)) ~
100kN/m%Z#E% % ~ ImEHBZD ~ 100kN/m%Z#B% % ~ ImERZS ~
Zh s ~ Zh LS ~ ZHLUS ~ Zh s ~
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